Surface Area of Pyramids

or 2
S=L+B

Find the lateral and total surface area of each of the following:

1. (square base) Perimeter of base: F = 4 -

Area of base: B =

2. (square base) Perimeter of base: F =4 - cm =
E L]
I L= 2 = cm?
i\ 15 om
i Area of base: B = = cm?
J‘..é 6 = + = cm
A K’ ¢
&cm Tp
Perimeter of base: F =4 - m= m
— 2 2
Slant height: £ = + -
L= 2 = m*
Area of base: B = = m®

12m

S = +
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4. (equilateral triangle base) Perimeter of base: F =3 - ft = ft

Area of base: B = 4 = ft?

S = + fit?

ll

12 ft.

10 mm

6. A fabric company needs to make a canopy in the shape of a square-based pyramid. Each side of the
square is 45 feet and the height of the canopy should be 7 feet. What is the lateral surface area of the
pyramid? (You will need to find the slant height.)

7. A square-based pyramid has a lateral surface area of 72 cm®. If the slant height is 3 cm, what is the
total surface area?
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Surface Area of Cones

L =mnrl
S=L+nar’

Find the lateral and total surface area of each cone (leave answers in terms of n):

5 OO
@ >

_ 2 2
2. Slant height: g_\/ + = in.
L=m- . = in
3. AB =3 mm L=
B A AC =10 mm
S =

4. Anice cream cone has a lateral area of 24n cm®. If the slant height is G cm, what is the radius of the
cone?

5. Max needed a cone to cover a circle with a diameter of & feet. If the height of the cone was 3 feet,
approximately how much materal would he need (lateral area)? Round your answer to the nearest foot.
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Yolume of Pyramids

Vleh
)

Find the volume of each of the following:
Area of base: B = mz =

1. (square base)
1
V = 3 . . <_v> =

2. (square base) Area of base: B = =

15 cm

-

R

Height: "= J _

Area of base: B = =

1
Volume: V=2 e

12m
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4. (equilateral triangle base) Area of base: B = 4 . f2
1
Yolume: V = 3 . . - 2
12 ft.
h=
B =
V=

10 mm

6. A square-based pyramid has a side length of 10 inches and a volume of 3300 in”. What is the height of
the pyramid.
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Volume of Cones

V=—mnr‘h

Find the volume of each cone (leave answers in terms of n):

20"

AB =3 mm
BC =10 mm

3.
'A
c

il
V: 5.7‘[. 2.
il
:507'(:0 .
= km®
2 2
Height: h \/ - = in
1
V:5.T[o 2,
il
:507'[0 . = il’l5
V =

4. Anice cream cone has a volume of 241 cm®. If the height is G cm, what is the radius of the cone?
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